IN=TINA T | F =TV EBEF

TOTAL AVERAGE RANKING
START BIB :NAME RUN1 RUNZ |RUN3 |[BEST [RANK RANK |START |BIB [NAME BEST
10 8lix#/,> R 17.67 0 0| 77.67 1 1 1l 8l{F#,> a7 XRT | 77.67
20 82iF¥ LT BRIV 18.33 0 0] 18.33 3 2 3| 83ev/ <+ +h 67.33
3. 83k7/ <+ b 67.33 0 0] 67.33 2 3 2| 82|FLZ7 XRIYV 18.33




IN=TINA T | F =T VT

TOTAL AVERAGE RANKING
START{BIB INAME RUN1 {RUNZ2 RUN3 |BEST [RANK RANK |START |BIB [NAME BEST
1D 71341y vZF 82.33 82.33 1 1 1l 7l FFN> VZ7F 82.33
20 12;>/\% FF 3 63.33 63.33 2 2 2| T12[{>/N& FF 3 63.33




IN=TINA T ] A XA ILEF

TOTAL AVERAGE RANKING

START BIB {NAME RUN1 'RUN2 ‘RUN3 [BEST |RANK RANK |START |[BIB [NAME BEST
1i bl ~¥F~n& EkOY 42 0 0] 42.00 10 1 13 63|~>v4 VUrxma7w| 79.00
20 52 FAH/ Uav 51.67 0 0] 51.67 6 2 b| b5|h~v = /7 71.67
3 83 AT F Y 47.33 0 Of 47.33 38 3 4l B4l RhNy xFT 65.33
4t BA RANY XFT 65.33 0 0] 65.33 3 4 11| 6l|##4 Vv EkFX 64.00
bi b5 h~v =7 /7 11.67 0 0] 71.67 2 5 7l 571|#AH&X &7 3 57.33
6/ b6ivvVIx AT 34.33 0 0| 34.33 11 6 2| s2f FALSE 51.67
7. 57TiAHKX kT3 57.33 0 0] 57.33 5 I 12| 62| <HER 51.00
8 B8N\ HYX 1)z 22.33 0 0] 22.33 12 3 31 B3[Hh77F Y 47.33
9. B9ivVY4a4 AvkT 17 0 0f 17.00 13 9 10| 60|14 +bw EB7IF| 45.33
10 60094 b7 kbR F| 4533 0 0] 45.33 9 10 1] bl|¥vF/~&% kR 42.00
11, 614V kI X 64 0 0] 64.00 4 11 6] b6[vvix auY 34.33
12, 62 /A <HER 51 0 0] 51.00 I 12 8| 58> ¥* Uav 22.33
13 63 V4 UrxAowv 79 0 0] 79.00 1 13 9] B9V 4 AvET 17.00
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TOTAL AVERAGE RANKING
START:BIB |NAME RUN1 ‘RUN2 {RUN3 [BEST |RANK RANK |START |BIB [NAME BEST
10 1125 %x U=* 67 0] 67.00 1 2] 12|Xv >3 NLv 74.67
20 121Xy 3 NILY 14.67 0 74.67 2 1l 11|27 &% U*x 67.00
30 131783 a1UKA 35.67 0 35.67 3 3/ 13|7H = avxA 35.67
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IN—TJINA T ) 4 T

TOTAL AVERAGE RANKING
START BIB \NAME RUN1 RUN2 [RUN3 [BEST |RANK RANK |START |BIB |[NAME BEST
1 1.dns 1 1 11 1.00 5 1 Al MNAPx TR 75.00
2. 2hx3 247 59.67. 33.67 0 59.67 4 2 5 b|7iv< T/ 70.33
3i 3eEVY XA 67, 21.33 0| 67.00 3 3 3[ 3lev~ XA 67.00
4 LA R TR 75 0 0 75.00 1 4 2| 2\hx33 A+ 59.67
5, b 7Y~ T/ 70.33 0 0f 70.33 2 5 1 1ldns 1.00




